

Research Article

The Hadamard product of series with Stirling numbers of the second kind and other special numbers

Khristo N. Boyadzhiev¹, Robert Frontczak^{2,*},†

¹Department of Mathematics, Ohio Northern University, Ada, OH 45810, USA

²Landesbank Baden-Württemberg (LBBW), 70173 Stuttgart, Germany

(Received: 13 June 2022. Received in revised form: 18 July 2022. Accepted: 28 July 2022. Published online: 25 August 2022.)

© 2022 the authors. This is an open access article under the CC BY (International 4.0) license (www.creativecommons.org/licenses/by/4.0/).

Abstract

We evaluate in closed form a number of power series where the coefficients are products of Stirling numbers of the second kind and other special numbers or polynomials. The results include harmonic, hyperharmonic, derangement, Cauchy, Catalan numbers, zeta values, and also Bernoulli, Euler, and Laguerre polynomials.

Keywords: summation of series; Hadamard product of series; Stirling numbers of the second kind.

2020 Mathematics Subject Classification: 11B68, 40A05, 33C45.

1. Introduction

Let a_n and $b_n, n = 0, 1, 2, \dots$, be the coefficients of two given power series $f(t)$ and $g(t)$, respectively. Then the power series of the form $\sum_{n \geq 0} a_n b_n z^n$ is known as the Hadamard product of the two series and gives the generating function for the product sequence $a_n b_n, n \geq 0$. It has the integral representation

$$\sum_{n=0}^{\infty} a_n b_n z^n = \frac{1}{2\pi i} \oint_L g\left(\frac{z}{\lambda}\right) \frac{f(\lambda)}{\lambda} d\lambda,$$

where L is a small positively oriented circle centered at the origin. In some cases this integral can be manipulated to find interesting series transformation formulas or even to evaluate the Hadamard product in closed form - see [2] for details. In [3], by using a certain binomial series transformation the first author evaluated in closed form the series $\sum_{n \geq 0} C_n H_n z^n$, where C_n are the Catalan numbers and H_n are the harmonic numbers. In [7], for $p \geq 0$ an integer, several series of the form $\sum_{n \geq 0} \binom{n+p}{n} f(n) z^n$ were evaluated, where $f(n)$ is some function that involves values of the Riemann zeta function. In [6] the authors considered series where the coefficients are products of Hermite polynomials and harmonic numbers.

This paper is a continuation of our research started in [8]. We present a simple method for evaluating in closed form power series like

$$\sum_{n \geq 0} S(n, m) a_n z^n,$$

where $S(n, m)$ are the Stirling numbers of the second kind and a_n are the coefficients of any power series (a_n can be special numbers or polynomials). Using the theorem we derive ten corollaries where we evaluate a number of power series. Our examples include series with zeta values $\zeta(n)$, harmonic, hyperharmonic, derangement, Cauchy, and Catalan numbers, and also Bernoulli, Euler, and Laguerre polynomials. In particular, the following series are evaluated

$$\sum_{n=m}^{\infty} S(n, m)^2 \frac{z^n}{n!}, \quad \sum_{n=m}^{\infty} S(n, m) \zeta(n+1) z^n, \quad \sum_{n=m}^{\infty} S(n, m) H_n z^n, \quad \sum_{n=m}^{\infty} S(n, m) H_n \frac{z^n}{n!}.$$

2. Power series with Stirling numbers and other special numbers

The Stirling numbers of the second kind $S(n, m)$ originated in the works of James Stirling (see [4] and [22]). They have numerous important applications in analysis and combinatorics (for example, see [1, 5, 9, 10, 15, 19, 20]). In combinatorics

*Corresponding author (robert.frontczak@lbbw.de).

†Statements and conclusions made in this article by R.F. are entirely those of the author. They do not necessarily reflect the views of LBBW.

$S(n, m)$ stands for the number of ways a set of n elements can be partitioned into m nonempty subsets. The numbers obey the recurrence relation

$$S(n + 1, m) = mS(n, m) + S(n, m - 1), \quad m > 0, \tag{1}$$

with initial conditions $S(0, 0) = 1$, $S(n, 0) = 0$ for $n > 0$, $S(n, n) = 1$ and for $n \geq 1$, $S(n, 1) = 1$.

The exponential generating function for these numbers is

$$\sum_{n=0}^{\infty} S(n, m) \frac{z^n}{n!} = \frac{1}{m!} (e^z - 1)^m, \tag{2}$$

where $m \geq 0$ and the series converges everywhere. The summation on the left hand side starts, in fact, from $n = m$, as $S(n, m) = 0$ for $n < m$. The ordinary generating function is

$$\sum_{n=m}^{\infty} S(n, m) z^n = \frac{z^m}{(1 - z)(1 - 2z) \cdots (1 - mz)} \tag{3}$$

with convergence for $|z| < 1/m$. For large n the Stirling numbers of the second kind have the asymptotic behavior $S(n, m) \sim \frac{m^n}{m!}$.

Our results are based on the following theorem.

Theorem 2.1. *Let $f(z) = a_0 + a_1z + a_2z^2 + \cdots$ be a function analytic on the disk $|z| \leq R$. Then for every integer $m > 0$ we have*

$$\sum_{n=m}^{\infty} S(n, m) a_n z^n = \frac{(-1)^m}{m!} \sum_{k=0}^m \binom{m}{k} (-1)^k f(kz), \tag{4}$$

with convergence in the disk $|z| < R/m$.

Proof. Let L be the circle $|\lambda| = R$. For every $n \geq 0$ we have

$$a_n = \frac{1}{2\pi i} \oint_L \frac{f(\lambda) d\lambda}{\lambda^{n+1}}$$

and from here (with $|z| < R/m$), by changing the order of summation and integration

$$\begin{aligned} \sum_{n=0}^{\infty} S(n, m) a_n z^n &= \frac{1}{2\pi i} \oint_L \left(\sum_{n=0}^{\infty} S(n, m) \left(\frac{z}{\lambda}\right)^n \right) \frac{f(\lambda) d\lambda}{\lambda} \\ &= \frac{z^m}{2\pi i} \oint_L \left(\left(1 - \frac{z}{\lambda}\right) \left(1 - \frac{2z}{\lambda}\right) \cdots \left(1 - \frac{mz}{\lambda}\right) \right)^{-1} \frac{f(\lambda) d\lambda}{\lambda^{m+1}} \\ &= \frac{z^m}{2\pi i} \oint_L ((\lambda - z)(\lambda - 2z) \cdots (\lambda - mz))^{-1} \frac{f(\lambda) d\lambda}{\lambda} \\ &= \frac{1}{2\pi i} \oint_L \left(\left(\frac{\lambda}{z} - 1\right) \left(\frac{\lambda}{z} - 2\right) \cdots \left(\frac{\lambda}{z} - m\right) \right)^{-1} \frac{f(\lambda) d\lambda}{\lambda}. \end{aligned}$$

With the substitution $\lambda = \mu z$ this becomes

$$\sum_{n=0}^{\infty} S(n, m) a_n z^n = \frac{1}{2\pi i} \oint_M \frac{f(\mu z) d\mu}{\mu(\mu - 1)(\mu - 2) \cdots (\mu - m)},$$

where M is now a circle centered at the origin and containing the numbers $1, 2, \dots, m$. Note that for $|z| < R/m$ we have $|\mu| = |\lambda/z| = R/|z| > m$. By the Nørlund-Rice formula (for details see [16]) we have

$$\frac{1}{2\pi i} \oint_M \frac{f(\mu z) d\mu}{\mu(\mu - 1)(\mu - 2) \cdots (\mu - m)} = \frac{(-1)^m}{m!} \sum_{k=0}^m \binom{m}{k} (-1)^k f(kz).$$

The proof is completed. □

Remark 2.1. *The above theorem can also be proved as follows: We use the well-known representation of the Stirling numbers (see [4] for instance)*

$$S(n, m) = \frac{(-1)^m}{m!} \sum_{k=0}^m \binom{m}{k} (-1)^k k^n. \tag{5}$$

Let p be a positive integer. We multiply both sides in the above equation by $a_n z^n$ and sum for $n = 0, 1, 2, \dots, p$ to get

$$\sum_{n=0}^p S(n, m) a_n z^n = \frac{(-1)^m}{m!} \sum_{k=0}^m \binom{m}{k} (-1)^k \left(\sum_{n=0}^p a_n (kz)^n \right).$$

When $|z| < R/m$ and $p \rightarrow \infty$ the right hand side will converge to the right hand side in (4). Therefore, the partial sums on the left hand side will also converge and passing to limits we come to equation (4).

For the function $f(z) = 1 + z + z^2 + \dots = \frac{1}{1-z}$, equation (4) becomes

$$\sum_{n=m}^{\infty} S(n, m) z^n = \frac{(-1)^m}{m!} \sum_{k=0}^m \binom{m}{k} \frac{(-1)^k}{1 - kz}, \tag{6}$$

which shows the decomposition in partial fractions of the ordinary generating function

$$\frac{z^m}{(1-z)(1-2z)\cdots(1-mz)} = \frac{(-1)^m}{m!} \sum_{k=0}^m \binom{m}{k} \frac{(-1)^k}{1 - kz}. \tag{7}$$

3. Applications of the theorem

In our first application, we present a ‘‘Stirling double series’’ by applying Theorem 2.1 to the generating function (2).

Corollary 3.1. *For any two integers $m, p \geq 0$ and every z we have*

$$\sum_{n=\max\{m,p\}}^{\infty} S(n, m) S(n, p) \frac{z^n}{n!} = \frac{(-1)^m}{p!m!} \sum_{k=0}^m \binom{m}{k} (-1)^k (e^{kz} - 1)^p. \tag{8}$$

When $m = p$ the series takes the form

$$\sum_{n=0}^{\infty} S^2(n, p) \frac{z^n}{n!} = \frac{(-1)^p}{(p!)^2} \sum_{k=0}^p \binom{p}{k} (-1)^k (e^{kz} - 1)^p. \tag{9}$$

Next, we consider the Stirling numbers of the first kind $s(n, p)$ with exponential generating function

$$\sum_{n=0}^{\infty} s(n, p) \frac{z^n}{n!} = \frac{1}{p!} \ln^p(1 + z), \tag{10}$$

where the radius of convergence is $R = 1$ (see [9, 10, 15, 20, 22]). These numbers are dual to $S(n, m)$ in the sense that

$$\sum_{k=0}^n S(n, k) s(k, j) = \begin{cases} 1 & n = j \\ 0 & n \neq j \end{cases} \quad \text{and} \quad \sum_{k=0}^n s(n, k) S(k, j) = \begin{cases} 1 & n = j \\ 0 & n \neq j \end{cases}.$$

With the help of Theorem 2.1 we construct a series involving the Stirling numbers of both kinds and evaluate it in closed form.

Corollary 3.2. *For any two integers $m > 0, p \geq 0$ we have*

$$\sum_{n=0}^{\infty} S(n, m) s(n, p) \frac{z^n}{n!} = \frac{(-1)^m}{p!m!} \sum_{k=0}^m \binom{m}{k} (-1)^k \ln^p(1 + kz), \tag{11}$$

true for $|z| < 1/m$. Again, the summation on the left hand side starts actually from $n = \max\{m, p\}$, as $s(n, p) = 0$ when $n < p$.

Our next example involves zeta values. Consider the Hurwitz zeta function

$$\zeta(s, a) = \sum_{k=0}^{\infty} \frac{1}{(k+a)^s}, \quad \text{Re}(s) > 1, a > 0,$$

where $\zeta(s, 1) = \zeta(s)$ is Riemann zeta function. The sequence $\zeta(n, a)/n, n = 1, 2, \dots$, has the generating function (see [20])

$$\sum_{n=1}^{\infty} \zeta(n, a) \frac{z^n}{n} = \ln \Gamma(a - z) - \ln \Gamma(a) + z\psi(a), \quad |z| < a,$$

where $\Gamma(z)$ is the Gamma function and $\psi(z) = \frac{d}{dz} \ln \Gamma(z)$ is the digamma function. Differentiating this representation we also have

$$\sum_{n=1}^{\infty} \zeta(n+1, a) z^n = -\psi(a-z) + \psi(a), \quad |z| < a$$

and in particular, for $a = 1$

$$\sum_{n=1}^{\infty} \zeta(n+1) z^n = -\psi(1-z) + \psi(1), \quad |z| < 1.$$

This leads to the next result which generalizes the above series representations.

Corollary 3.3. *For every integer $m > 1$ and every $a > 0$ we have the representations*

$$\begin{aligned} \sum_{n=m}^{\infty} S(n, m) \zeta(n, a) \frac{z^n}{n} &= \frac{(-1)^m}{m!} \sum_{k=0}^m \binom{m}{k} (-1)^k (\ln \Gamma(a - kz) - \ln \Gamma(a) + kz\psi(a)) \\ &= \frac{(-1)^m}{m!} \sum_{k=0}^m \binom{m}{k} (-1)^k \ln \Gamma(a - kz) \\ \sum_{n=m}^{\infty} S(n, m) \zeta(n+1, a) z^n &= \frac{(-1)^{m-1}}{m!} \sum_{k=0}^m \binom{m}{k} (-1)^k \psi(a - kz) \end{aligned} \tag{12}$$

with convergence for $|z| < a/m$. Also, with $a = 1$

$$\sum_{n=m}^{\infty} S(n, m) \zeta(n+1) z^n = \frac{(-1)^{m-1}}{m!} \sum_{k=0}^m \binom{m}{k} (-1)^k \psi(1 - kz) \tag{13}$$

with convergence for $|z| < 1/m$.

Note that the first sum in the corollary was simplified because for $m > 1$ by the binomial theorem

$$\sum_{k=0}^m \binom{m}{k} (-1)^k = 0, \quad \sum_{k=0}^m \binom{m}{k} (-1)^k k = 0.$$

If we set $a = m$ in (12) we obtain an interesting power series converging in the disk $|z| < 1$

$$\sum_{n=m}^{\infty} S(n, m) \zeta(n+1, m) z^n = \frac{(-1)^{m-1}}{m!} \sum_{k=0}^m \binom{m}{k} (-1)^k \psi(m - kz). \tag{14}$$

For example, we have the curious identity

$$\sum_{n=m}^{\infty} \frac{1}{2^n} S(n, m) \zeta(n+1, m) = \frac{(-1)^{m-1}}{m!} \sum_{k=0}^m \binom{m}{k} (-1)^k \psi\left(m - \frac{k}{2}\right).$$

Now we consider the hyperharmonic numbers $h_n^{(p)}$ (also denoted by $H_{n,p}$). These numbers first appeared in the book of Conway and Guy [11] and generalize the harmonic numbers H_n . They were studied recently in [12–14]. Hyperharmonic numbers can be defined by the formula

$$h_n^{(p+1)} = \sum_{k=0}^n \binom{n+p}{n-k} (H_{n+p} - H_p)$$

for $n, p = 0, 1, 2, \dots$, where $H_n = 1 + \frac{1}{2} + \dots + \frac{1}{n}$, $H_0 = 0$, are the harmonic numbers. For $p = 0$, we have $h_n^{(1)} = H_n$. The ordinary generating functions for the hyperharmonic numbers and the harmonic numbers are given by

$$\sum_{n=0}^{\infty} h_n^{(p)} z^n = \frac{-\ln(1-z)}{(1-z)^p}, \quad \sum_{n=0}^{\infty} H_n z^n = \frac{-\ln(1-z)}{1-z},$$

convergent for $|z| < 1$. We will also use the exponential generating function for the harmonic numbers (entry (5.13.13) in Hansen’s table [17])

$$\sum_{n=0}^{\infty} H_n \frac{z^n}{n!} = e^z \operatorname{Ein}(z),$$

where $\operatorname{Ein}(z)$ is the exponential integral function (an entire function)

$$\operatorname{Ein}(z) = \int_0^z \frac{1 - e^{-t}}{t} dt = \sum_{n=1}^{\infty} \frac{(-1)^{n-1} z^n}{n!n}.$$

Theorem 2.1 implies the following representations.

Corollary 3.4. For all integers $m, p > 0$ and for all $|z| < 1/m$ we have

$$\sum_{n=0}^{\infty} S(n, m) h_n^{(p)} z^n = \frac{(-1)^{m-1}}{m!} \sum_{k=0}^m \binom{m}{k} (-1)^k \frac{\ln(1 - kz)}{(1 - kz)^p}, \tag{15}$$

$$\sum_{n=0}^{\infty} S(n, m) H_n z^n = \frac{(-1)^{m-1}}{m!} \sum_{k=0}^m \binom{m}{k} (-1)^k \frac{\ln(1 - kz)}{1 - kz}, \tag{16}$$

and for all z

$$\sum_{n=0}^{\infty} S(n, m) H_n \frac{z^n}{n!} = \frac{(-1)^{m-1}}{m!} \sum_{k=0}^m \binom{m}{k} (-1)^k e^{kz} \operatorname{Ein}(kz). \tag{17}$$

Integrating identity (16) we find also

$$\sum_{n=0}^{\infty} S(n, m) \frac{H_n}{n+1} z^{n+1} = \frac{(-1)^m}{m!} \frac{1}{2} \sum_{k=1}^m \binom{m}{k} \frac{(-1)^k}{k} \ln^2(1 - kz). \tag{18}$$

Remark 3.1. The identity (18) contains a special case of identity (11), namely the series with $s(n, 2)$ via

$$s(n, 2) = (-1)^n (n - 1)! H_{n-1}$$

(see [20]) and the recurrence (1):

$$\begin{aligned} \sum_{n=0}^{\infty} S(n+1, m) \frac{H_n}{n+1} (-z)^{n+1} &= \sum_{n=0}^{\infty} \left(mS(n, m) + S(n, m-1) \right) \frac{H_n}{n+1} (-z)^{n+1} \\ &= m \frac{(-1)^m}{m!} \frac{1}{2} \sum_{k=1}^m \binom{m}{k} \frac{(-1)^k}{k} \ln^2(1 + kz) + \frac{(-1)^{m-1}}{(m-1)!} \frac{1}{2} \sum_{k=1}^{m-1} \binom{m-1}{k} \frac{(-1)^k}{k} \ln^2(1 + kz) \\ &= \frac{(-1)^m}{m!} \frac{1}{2} \sum_{k=1}^{m-1} \left(\binom{m}{k} - \binom{m-1}{k} \right) \frac{m}{k} (-1)^k \ln^2(1 + kz) + \frac{1}{m!} \frac{1}{2} \ln^2(1 + mz) \\ &= \frac{(-1)^m}{m!} \frac{1}{2} \sum_{k=1}^{m-1} \binom{m-1}{k-1} \frac{m}{k} (-1)^k \ln^2(1 + kz) + \frac{1}{m!} \frac{1}{2} \ln^2(1 + mz) \\ &= \frac{(-1)^m}{m!} \frac{1}{2} \sum_{k=1}^m \binom{m}{k} (-1)^k \ln^2(1 + kz) \\ &= \sum_{n=0}^{\infty} S(n, m) s(n, 2) \frac{z^n}{n!}. \end{aligned}$$

Next, we apply Theorem 2.1 to the case when $a_n = B_n(x)$, the Bernoulli polynomials. The Bernoulli polynomials have the exponential generating function

$$\sum_{n=0}^{\infty} B_n(x) \frac{z^n}{n!} = \frac{ze^{xz}}{e^z - 1}, \quad |z| < 2\pi,$$

Here, $B_n(0) = B_n$ are the Bernoulli numbers (see [10, 20]).

Corollary 3.5. For every integer $m > 0$ and every $|z| < 2\pi/m$

$$\sum_{n=0}^{\infty} S(n, m) B_n(x) \frac{z^n}{n!} = \frac{(-1)^m}{m!} \sum_{k=0}^m \binom{m}{k} \frac{(-1)^k k z e^{kxz}}{e^{kz} - 1}, \tag{19}$$

$$\sum_{n=0}^{\infty} S(n, m) B_n \frac{z^n}{n!} = \frac{(-1)^m}{m!} \sum_{k=0}^m \binom{m}{k} \frac{(-1)^k k z}{e^{kz} - 1}. \tag{20}$$

We also list the similar result for the Euler polynomials $E_n(x)$ and the Euler numbers $E_n = 2^n E_n(1/2)$. They are defined correspondingly by the exponential generating functions

$$\sum_{n=0}^{\infty} E_n(x) \frac{z^n}{n!} = \frac{2e^{xz}}{e^z + 1}, \quad \sum_{n=0}^{\infty} E_n \frac{z^n}{n!} = \frac{1}{\cosh(z)},$$

convergent in $|z| < \pi$ (see [10, 20]). Theorem 2.1 implies the following corollary.

Corollary 3.6. *For every integer $m > 0$ and every $|z| < \pi/m$ we have*

$$\sum_{n=0}^{\infty} S(n, m) E_n(x) \frac{z^n}{n!} = \frac{(-1)^m}{m!} \sum_{k=0}^m \binom{m}{k} \frac{(-1)^k e^{kxz}}{e^{kz} + 1} \tag{21}$$

and

$$\sum_{n=0}^{\infty} S(n, m) E_n \frac{z^n}{n!} = \frac{(-1)^m}{m!} \sum_{k=0}^m \binom{m}{k} \frac{(-1)^k}{\cosh(kz)}. \tag{22}$$

Next, in the line are the derangement numbers $D_n, n = 0, 1, \dots$, defined by

$$D_n = n! \left(1 - \frac{1}{1!} + \frac{1}{2!} - \frac{1}{3!} + \dots + \frac{(-1)^n}{n!} \right).$$

They give the number of permutations of $\{1, 2, \dots, n\}$ with no fixed points (see [15, 21]). The generating function of the derangement numbers is given by

$$\sum_{n=0}^{\infty} D_n \frac{z^n}{n!} = \frac{e^{-z}}{1-z}, \quad |z| < 1.$$

According to our theorem we have the series identity

Corollary 3.7. *For every integer $m > 0$ and every $|z| < 1/m$*

$$\sum_{n=0}^{\infty} S(n, m) D_n \frac{z^n}{n!} = \frac{(-1)^m}{m!} \sum_{k=0}^m \binom{m}{k} \frac{(-1)^k e^{-kz}}{1-kz}. \tag{23}$$

The Cauchy numbers of the first kind c_n and second kind d_n have exponential generating functions

$$\sum_{n=0}^{\infty} c_n \frac{z^n}{n!} = \frac{z}{\ln(1+z)}, \quad \sum_{n=0}^{\infty} d_n \frac{z^n}{n!} = \frac{-z}{(1-z)\ln(1-z)},$$

convergent for $|z| < 1$ (see [10]). Therefore the main theorem immediately gives the next series expressions.

Corollary 3.8. *For every integer $m > 0$ and every $|z| < 1/m$*

$$\sum_{n=0}^{\infty} S(n, m) c_n \frac{z^n}{n!} = \frac{(-1)^m}{m!} \sum_{k=0}^m \binom{m}{k} \frac{(-1)^k kz}{\ln(1+kz)}, \tag{24}$$

and

$$\sum_{n=0}^{\infty} S(n, m) d_n \frac{z^n}{n!} = \frac{(-1)^{m-1}}{m!} \sum_{k=0}^m \binom{m}{k} \frac{(-1)^k kz}{(1-kz)\ln(1-kz)}. \tag{25}$$

Consider now the binomial series. For any real number α and $|z| < 1$

$$(1+z)^\alpha = \sum_{n=0}^{\infty} \binom{\alpha}{n} z^n.$$

For $\alpha = -1/2$ we have $\binom{-1/2}{n} = \frac{1}{4^n} \binom{2n}{n}$ and therefore, the central binomial numbers $\binom{2n}{n}$ have the generating function

$$\sum_{n=0}^{\infty} \binom{2n}{n} z^n = \frac{1}{\sqrt{1-4z}}.$$

By integration, the Catalan numbers $C_n = \frac{1}{n+1} \binom{2n}{n}$ have generating function (see [3])

$$\sum_{n=0}^{\infty} C_n z^n = \frac{1 - \sqrt{1-4z}}{2z} = \frac{2}{1 + \sqrt{1-4z}}.$$

Theorem 2.1 leads to the next corollary.

Corollary 3.9. *For every integer $m > 0$, every real number α and every $|z| < 1/m$*

$$\sum_{n=0}^{\infty} S(n, m) \binom{\alpha}{n} z^n = \frac{(-1)^m}{m!} \sum_{k=0}^m \binom{m}{k} (-1)^k (1+kz)^\alpha \tag{26}$$

and for every $|z| < 1/4m$

$$\sum_{n=0}^{\infty} S(n, m) \binom{2n}{n} z^n = \frac{(-1)^m}{m!} \sum_{k=0}^m \binom{m}{k} \frac{(-1)^k}{\sqrt{1-4kz}}, \tag{27}$$

$$\sum_{n=0}^{\infty} S(n, m) C_n z^n = \frac{2(-1)^m}{m!} \sum_{k=0}^m \binom{m}{k} \frac{(-1)^k}{1 + \sqrt{1-4kz}}. \tag{28}$$

As our last example, and one involving classical orthogonal polynomials, we consider the generalized Laguerre polynomials $L_n^\alpha(x)$. The generalized Laguerre polynomials are defined for all α with $\operatorname{Re}(\alpha) \geq -1$ by

$$L_n^\alpha(x) = \sum_{k=0}^n \binom{n+\alpha}{n-k} \frac{(-x)^k}{k!} = \binom{n+\alpha}{n} {}_1F_1(-n; \alpha+1; x),$$

with ${}_1F_1(a; b; x)$ being the confluent hypergeometric function [20]. When $\alpha = 0$, these polynomials reduce to the classical Laguerre polynomials given by

$$L_n(x) = \frac{e^x}{n!} \left(\frac{d}{dx} \right)^n (x^n e^{-x}), \quad n \geq 0, \quad (29)$$

or by the explicit binomial representation

$$L_n(x) = \sum_{k=0}^n \binom{n}{k} \frac{(-x)^k}{k!}. \quad (30)$$

Generalized Laguerre polynomials $L_n^\alpha(x)$ have the generating function [18]

$$\sum_{n=0}^{\infty} L_n^\alpha(x) z^n = \frac{1}{(1-z)^\alpha} \exp\left(\frac{xz}{1-z}\right), \quad |z| < 1.$$

Theorem 2.1 implies the next result.

Corollary 3.10. *For every $m > 0$ and every $|z| < 1/m$ we have the representation*

$$\sum_{n=0}^{\infty} S(n, m) L_n^\alpha(x) z^n = \frac{(-1)^m}{m!} \sum_{k=0}^m \binom{m}{k} \frac{1}{(1-kz)^\alpha} \exp\left(\frac{kxz}{1-kz}\right). \quad (31)$$

In particular,

$$\sum_{n=0}^{\infty} S(n, m) L_n(x) z^n = \frac{(-1)^m}{m!} \sum_{k=0}^m \binom{m}{k} \exp\left(\frac{kxz}{1-kz}\right). \quad (32)$$

4. Conclusion

This article was concerned with the closed form evaluation of a number of power series where the coefficients are products of Stirling numbers of the second kind and other important numbers or polynomials. The list of examples that was presented is, of course, not complete and some more series could be derived straightforwardly from Theorem 2.1. We mention Chebyshev polynomials, Fibonacci (Lucas) polynomials, Hermite polynomials and generalized Bernoulli polynomials as four important examples that were not stated explicitly. We leave them to the interested reader.

Acknowledgement

The authors are thankful to three anonymous referees for their comments and suggestions that helped to improve the paper.

References

- [1] K. N. Boyadzhiev, A series transformation formula and related polynomials, *Int. J. Math. Math. Sci.* **23** (2005) 3849–3866.
- [2] K. N. Boyadzhiev, Series transformation formulas of Euler type, Hadamard product of functions, and harmonic number identities, *Indian J. Pure Appl. Math.* **42** (2011) 371–387.
- [3] K. N. Boyadzhiev, Series with central binomial coefficients, Catalan numbers, and harmonic numbers, *J. Integer Seq.* **15** (2012) #12.1.7.
- [4] K. N. Boyadzhiev, Close encounters with the Stirling numbers of the second kind, *Math. Mag.* **85** (2012) 252–266.
- [5] K. N. Boyadzhiev, *Notes on the Binomial Transform*, World Scientific, Singapore, 2018.
- [6] K. N. Boyadzhiev, A. Dil, Series with Hermite polynomials and applications, *Publ. Math. Debrecen* **80** (2012) 387–406.
- [7] K. N. Boyadzhiev, A. Dil, Geometric polynomials: Properties and applications to series with zeta values, *Anal. Math.* **42** (2016) 203–224.
- [8] K. N. Boyadzhiev, R. Frontczak, Hadamard product of series with special numbers, Submitted.
- [9] C. A. Charalambides, *Enumerable Combinatorics*, Chapman and Hall/CRC, Boca Raton, 2002.
- [10] L. Comtet, *Advanced Combinatorics*, Kluwer, Dordrecht, 1974.
- [11] J. H. Conway, R. Guy, *The Book of Numbers*, Corrected Edition, Copernicus, New York, 1995.
- [12] M. A. Coppo, P. T. Young, On shifted Mascheroni series and hyperharmonic numbers, *J. Number Theory* **169** (2016) 1–20.
- [13] A. Dil, K. N. Boyadzhiev, Euler sums of hyperharmonic numbers, *J. Number Theory* **147** (2015) 490–498.
- [14] Ö. Duran, N. Ömür, S. Kopalal, On sums with generalized harmonic, hyperharmonic and special numbers, *Miskolc Math. Notes* **21** (2020) 791–803.
- [15] R. L. Graham, D. E. Knuth, O. Patashnik, *Concrete Mathematics*, Addison-Wesley, New York, 1994.
- [16] P. Flajolet, R. Sedgewick, Mellin transforms and asymptotics: Finite differences and Rice's integrals, *Theoret. Comput. Sci.* **144** (1995) 101–124.
- [17] E. R. Hansen, *A Table of Series and Products*, Prentice Hall, Englewood Cliffs, 1975.
- [18] N. N. Lebedev, *Special Functions and Their Applications*, Dover, New York, 1972.
- [19] J. Quaintance, H. W. Gould, *Combinatorial Identities for Stirling Numbers*, World Scientific, Singapore, 2016.
- [20] H. M. Srivastava, J. Choi, *Series Associated with the Zeta and Related Functions*, Kluwer, Dordrecht, 2001.
- [21] R. P. Stanley, *Enumerable Combinatorics*, Volume 1, Cambridge University Press, Cambridge, 2012.
- [22] I. Tweddle, *James Stirling's Methodus Differentialis: An Annotated Translation of Stirling's Text*, Springer, New York, 2003.